Chapter 3.

Measuring Business Income

1. Pierce Enterprises had supplies on hand costing $240 on December 31. During that same year, supplies costing $500 were purchased, and $320 in supplies were consumed during the year. What was the cost of supplies on hand on January 1 of that year?

2. Dowling Company had supplies on hand costing $2,000 at the beginning of the year and $2,400 at the end of the year. During the year, supplies totaling $3,800 were consumed. How much was the total cost of supplies purchased during the year?

3. An examination of the Prepaid Insurance account shows a debit balance of $800 at the end of the accounting period before adjustment. Prepare journal entries to record the insurance expense for the period under each of the following independent assumptions:

a. An examination of insurance policies shows that insurance costing $300 has expired during the period.

4 Pratt Printers pays wages of $3,000 every Friday for a five-day workweek. June 30, the last day of the fiscal year, falls on a Tuesday. In the general journal provided, prepare the June 30 adjusting entry as well as the July 3 follow-up entry when the wages are paid. Omit explanations.

5. In the general journal provided, prepare adjusting entries for the following transactions. Omit explanations.
a. Depreciation on machinery is $640 for the accounting period.

b. Interest incurred on a loan but not paid or recorded is $195.

c. Office supplies of $150 were on hand at the beginning of the period. Purchases of office supplies during the period totaled $50. At the end of the period, $35 in office supplies remained.

d. Commissions amounting to $840 were earned but not recorded or collected by year end.

e. Prepaid Rent had a $2,000 debit balance prior to adjustment. By year end, 30 percent had expired.

f. Wages owed at the end of the year are estimated to be $730.

6. For each of the following oversights, state whether owner’s equity will be understated (U), overstated (O), or not affected (NA).
     _____ a. Failure to record depreciation

     _____ b. Failure to record accrued wages

     _____ c. Failure to record unearned revenue to earned revenue

     _____ d. Failure to record accrued interest in the bank

     _____ e. Failure to record expired insurance 

     _____ f. Failure to record revenue earned but not yet received

7. Prepare year-end adjusting entries in the general journal provided for each of the following situations:
a. The Store Supplies account showed a beginning debit balance of $200 and purchases of $1,400. The ending debit balance was $400.

b. Depreciation on buildings is estimated to be $6,300.

c. A one-year insurance policy was purchased for $3,600. Nine months have passed since the purchase.

d. Accrued interest on notes payable amounted to $250.

e. The company received a $4,800 advance payment during the year on services to be performed. By the end of the year, one-third of the services had been performed.

f. Payroll for the five-day workweek, to be paid on Friday, is $5,000. The last day of the period is a Tuesday.

g. Services totaling $730 had been performed but not received or recorded
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Answers

1.
 $6
0 ($240 + $320 = $560; $560 – $500)

2.
 $4,200 ($3,800 + $2,400 – $2,000)

3.
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6. 
 a. O     d. U

b. O     e. O

c. U     f. U

7. 
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